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231§ = (6*a3/48*E*Al) + (6*b3/48*E*A2) (¥ =% cm i
Gip it R * K6 +5) a=L*06 b=W*06

E: o z38H 4 #i( 301A% 8.8%10%K6/cm?) ( & A 2 4 10.1%10°K6/cm?)



PEEY JF(aBbHERRB)RUE 6 PEERP o)

x5 o 4 b1800xW1200% T300mm % ] 0 haribit & M2 B - BBtk

Il

% 800kgs § fede i o PR 2N E g E 0 -

uaR AT /12 A2=WATS /12w gk (Bt om 2
Al= 180*303 /12 = 180*27000=4.05*10°
A2=120*303 /12 = 120*27000=2.70*10°
Bt A2 Al A2 o T oAt
3 = (6*a3/48*E*Al) + (6*b3/48*E*A2)
- (800*1203/48*8 8*10°%4.05%10°) + (800*1083/48*8.8*10°%2.70*10°)
- (1.38*1019/ 17101019y + (1.008*1019/ 11401010 )

= 0.00081 + 0.000884

=0.001694cm
= 0.0169mm
=16.9 um
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